ITPOI'PAMMA BCTYIUTEJIbBHOI'O HCIIBITAHUA
O AHI'JIMHCKOMY A3BIKY JJI51 IPO®ECCHOHAJIBHBIX HEJIEN
JJIA HOCTYHAIOIIUX B MATUCTPATYPY
ITO KOHKYPCHbIM I'PYIIIAM ®BBT

1. LEJIb BCTYIIMTEJIBHOT'O UCITBITAHUA

L{enb BCTYNUTEIBHOTO HUCIBITAHUS — ONPEICIHTH YPOBEHb BJIQJICHUS AHTJIOS3BIYHBIMH
KOMMYHHKATHBHBIMA ~ YMCHHSIMH, a TakKKe OICHUTh TaKHE AaCMeKThl KOTHUTHUBHOUN
JESATCIIbHOCTH a0UTYPUCHTOB, KaK aHalli3 TaOJIMIl, TEeKCTa, M300paKeHUH; HABBIKM PEIICHUS
npo0jieM; CHOCOOHOCTH K aOCTPaKTHOMY MBIIUICHHIO ¥ OOOOIICHUIO ¥ KOHIEHTPAIHIO
BHUMAaHUSL.

2. TPEBOBAHNMA K [TIOCTYITAIOIINM

Ha BcTynuTenpHOM HCIBITAaHUM AOUTYPHEHT JIOJDKEH MPOJEMOHCTPUPOBATh BIIAJICHUE
AQHTJIMHUCKUM SI3BIKOM KakK CpEACTBOM NPO(ECCHOHATBHOIO OOILIEHUs, YTO IOApPa3yMEBaeT:
a/IeKBaTHOE KOMMYHHMKATHBHOM CUTYyalllu yIOTpeOIeHUE S3bIKOBBIX CPE/ICTB aHTIIMICKOIO SI3bIKa
Ha BCEX YpPOBHSX; 3HAHUE JIEKCUYECKHX, IPaMMaTUYECKUX U CTUIMCTUYECKUX HOPM
COBPEMEHHOI'0 AaHIJIMHCKOTO JINTEPAaTYpHOTO s3bIKa W MpPaBUJI YNOTPEOJIEHHUS BapUaHTOB
A3BIKOBBIX €JIMHUL, OINpPEIEISIEMbIX CTHJIEBBIMH UM >KaHPOBBIMU TPEeOOBaHUSIMH B Pa3rOBOPHO-
OBITOBOM, O(QHUIMATBHO-IEIOBOH W HAy4yHOH cdepax KOMMYHHUKAlUHM; BiIaJeHHe 0a30BOM
po(hecCHOHANBHON JIEKCUKOMN; 3HAHWE OCHOBHOM TEPMHUHOJIOTHMHU (MaTeMaTuKa, MEHEIKMEHT,
HKOHOMHKA) B paMKax DeiepaibHOro rocyjapcTBEHHOI0 00pa3oBaTeIbHOTO CTAaHAAPTA CPEIHETr0
(TOJTHOTO) OCHOBHOT'O 00pa30BaHUS.

3. TPEBOBAHMS K COJEPXAHUIO S3bIKOBOM KOMITETEHIU
ABUTYPHUEHTOB

3.1 Mamemamuueckas uacms. BOIpOCH], CBS3aHHBIE C PEUICHHEM MaTeMaTUYECKUX
3a7]a4 TECTUPYIOT MAaTeMaTUYECKUE HABBbIKM, T[OHUMAHHE OCHOBHBIX MATEMaTUYECKUX
KOHIEMNIINH, CIOCOOHOCTh pacCyKIaTh MAaTeMAaTHYeCKd U pellaTh KOJIUYECTBEHHBIE 3aJauu.
Bormpocsl, cBs3aHHBIE € OIIEHKON JTOCTATOYHOCTH UMEIOIIUXCS IaHHBIX, OIIEHUBAIOT CIIOCOOHOCTH
KaHJUJaTa aHaTU3MPOBAaTh MATEMaTHYECKYIO 33a/1ady, PAacllO3HaBaTh HHPOPMAIIHIO, PEIEBAHTHYIO
JUISL TAaHHOM 3a71aud, ¥ ONPENeNsATh, KOr/ia uMeroeics nuHopmMauy 10CTaTOYHO IJIsl PEIIeHUs
3a7a4H.

3.2. Bepbanvras uacme.

Ymenue (Reading). IToHnMaHHe MPOYMTAHHOTO TEKCTA, OTBETHI MO TEKCTY OOIIETr0 U
YaCcTHOT'O Xapaktepa. TEeKCThI MOJAOUPAIOTCS U3 SKOHOMHKH, UCTOPHUU, OUOJIOTHH, TEOJOTHH U
Opyrux obmacteil. Bompocsl MpOBEpSIOT yMEHHE BBIACIUTH OCHOBHYIO MBICIb TEKCTa,
OTIPENICIIUTS 11eJIb HAITUCAHNUs, TTO3UIIUIO0 aBTOPA, ONPEACIIUTh (YHKIIMU OTIEIbHBIX maparpagos,
MIOHSATh, C KAKOW IEJIbI0 aBTOPOM ObLjIa YIIOMSHYTa Ta WX MHAs WH()OpMAIUS UM OMHUCAHO TO
WA MHOE SIBIIEHUE, OTIMCAHHOE B TEKCTE.

Kpumuueckoe mviunenue (Critical Reasoning). IloHumaHue yTBEpXKICHHS W €ro
JIOTUYECKH aHaiW3, KPUTHYECKOE OOOCHOBAaHWE COOCTBEHHBIX MbIcieH. Jlormueckas
apryMEHTAIlUs, OTIPOBEPIKEHUE U TIOATBEPIKICHHE JIOBOJOB, YMEHHE J€IaTh CIOXKHbIC BBIBOIBL.

I'pammamuxa (Sentence correction). Mcnpaenenue rpammatudeckux, opdorpaduieckux,
CTHUITUCTUYECKUX M CHHTAKCHYECKUX OIIMOOK B MPEITOKECHHSIX.



Ananumuueckoe nucomo (Analytical Writing Assessment). AHanuTHYeCKHUN aHAIHM3 3CCE,
cojiepkaliiee onmOKu 0000IIEHNUS, AHATIOTHH, HEOOOCHOBAHHOM MTPUYNHHO-CIIEICTBCHHOM CBSI3H,
IOZIMCHBI TTOHATHH, HEIMOATBEPKACHHBIMH TIPEINOI0KEHUIMH, KOTOPBIE aBTOP apryMeHTa
UCIIOJIB3YET B CBOEM paccCykaeHur. HeoOXoaumMo onpenennTh, Kak MUHUMYM, TPH JIOTHYECKHE
OHIMOKH, apryMEHTHPOBAHO OIKCaTh WX W PEKOMEHIOBaTh CIIOCOOBI MX YCTpPaHEHHS. Jcce
COCTOMT W3 BBEJCHHUS, TpeX ab3aleB OCHOBHOM dYacTH (IO OJHOMY Ha KaXIyIO OIIMOKY) W
3aKJTIOYCHHS.

3.3. IIlpumepsbl IK3aMeHAIIMOHHBIX 3aIaHUI

Mamemamuueckasn wacme.

Pewenue npoonemur (Problem-solving)

Solve the problem and indicate the best of the answer choices given.
Numbers: All numbers used are real numbers.

Figures: A figure accompanying a problem solving question is intended to provide information
useful in solving the problem. Figures are drawn as accurately as possible. Excerptions will be
clearly noted. Lines shown as straight are straight, and lines that appear jagged are also straight.
The positions of points, angles, regions, etc. exist in the order shown, and angle measures are
greater than zero. All figures lie in a plane unless otherwise indicated.

¢ In a certain sequence, every term after the first is determined by multiplying the previous
term by an integer constant greater than 1. If the fifth term of the sequence is less than
1000, what is the maximum number of nonnegative integer values possible for the first
term?

A) 60B)61C)62D)63E)64
e A student committee on academic integrity has 90 ways to select a president and vice-
president from a group of candidates. The same person cannot be both president and vice-
president. How many students are in the group?

Onpeodenenue docmamounocmu oannwix (Data Sufficiency)

Each data sufficiency problem consists of a question and two statements. In data sufficiency
problems that ask for the value of a quantity, the data given in the statements are sufficient only
when it is possible to determine exactly one numerical value of quantity.

(A) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

(B) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(C) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
(D) EACH statement ALONE is sufficient.
(E) Statements (1) and (2) TOGETHER are NOT sufficient.

e If xis a positive integer, is x — 1 a factor of 104?
(1) x is divisible by 3.



(2) 27 is divisible by x.

Bepbanvuas uacme.
Ymenue.
Each of the reading comprehension questions is based on the content of a passage. After reading
the passage, answer all questions pertaining to it on the basis of what is stated or implied in the
passage. For each question, select the best answer of the choices given.
Ecoefficiency (measures to minimize environmental impact through the reduction or elimination
of waste from production processes) has become a goal for companies worldwide, with many
realizing significant cost savings from such innovations. Peter Serge and Goran Carstedt see this
development as laudable but suggest that simply adopting ecoefficiency innovations could actually
worsen environmental stresses in the future. Such innovations reduce production waste but do not
alter the number of products manufactured nor the waste generated from their use and discard,;
indeed, most companies invest in ecoefficiency improvements in order to increase profits and
growth. Moreover, there is no guarantee that increased economic growth from ecoefficiency will
come in similarly ecoefficient ways, since in today’s global markets, greater profits may be turned
into investment capital that could easily be reinvested in old-style eco-inefficient industries. Even
a vastly more ecoefficient industrial system could, were it to grow much larger, generate more
total waste and destroy more habitat and species than would a smaller, less ecoefficient economy.
Senge and Carstedt argue that to preserve the global environment and sustain economic growth,
businesses must develop a new systemic approach that reduces total material use and total
accumulated waste. Focusing exclusively on ecoefficiency, which offers a compelling business
case according to established thinking, may distract companies from pursuing radically different
products and business models.
Questions 1-3 refer to the passage above.
1. The primary purpose of the passage is to
(A) explain why a particular business strategy has been less stressful than was once
anticipated
(B) propose an alternative to a particular business strategy that has inadvertently
caused ecological damage
(C) present a concern about the possible consequences of pursuing a particular
business strategy
(D) make a case for applying a particular business strategy on a larger scale than is
currently practiced
(E) suggest several possible outcomes of companies’ failure to understand the

economic impact of a particular business strategy



2. The passage mentions which of the following as a possible consequence of companies’
realization of greater profits through ecoefficiency?
(A) The companies may be able to sell a greater number of products by lowering
prices.
(B) The companies may be better able to attract investment capital in the global
market.
(C) The profits may be reinvested to increase economic growth through
ecoefficiency.
(D) The profits may be used as investment capital for industries that are not
ecoefficient.
(E) The profits may encourage companies to make further innovations in reducing
production waste.
3. The passage implies that which of the following is a possible consequence of a
companies’ adaptation of innovations that increase its ecoefficiency?
(A) Company profits resulting from such innovations may be reinvested in that
company with no guarantee that the company will continue to make further
improvements in ecoefficiency.
(B) Company growth fostered by cost savings from such innovations may allow
that company to manufacture a greater number of products that will be used and
discarded, thus worsening environmental stress.
(C) A company that fails to realize significant cost savings from such innovations
may have little incentive to continue to minimize the environmental impact of its
production processes.
(D) A company that comes to depend on such innovations to increase its profits and
growth may be vulnerable in the global market to competition from old-style ecO-
inefficient industries.
(E) A company that meets its ecoefficiency goals is unlikely to invest its increased

profits in the development of new and innovative ecoefficient measures.

Kpumuuecrkoe mvuunenue (Critical Reasoning)
Each of the critical reasoning questions is based on a short argument, a set of statements, or a
plan of action. For each question, select the best answer of the choices given.

e Studies have shown that an automobile that runs on a blend of 85% ethanol/15% gasoline

gets better mileage than an otherwise similar car equipped with a gasoline engine. Many

American legislators have concluded that an increase in tax incentives for ethanol



production would lessen our dependence on foreign oil. Which of the following, if true,
casts the most doubt upon the validity of the legislators’ conclusion?

(A) It takes 1.5 gallons of oil to produce 1 gallon of ethanol.

(B) Electric cars are cheaper to operate than cars running on the ethanol fuel mix.

(C) It costs thousands of dollars to retrofit an automobile to run on the ethanol fuel mix.
(D) The ethanol/gasoline blend emits more pollution that regular gasoline.

(E)The ethanol/gasoline blend has not been widely adopted in Europe.

Sharks have a higher ratio of cartilage mass to body mass than any other organism. They
also have a greater resistance to cancer than any other organism. Shark cartilage contains
a substance that inhibits tumor growth by stopping the development of a new blood
network. In the past 20 years, none of the responses among terminal cancer patients to
various therapeutic measures has been more positive than the response among those
who consumed shark cartilage. If the claims made above are true, then each of the
following could be true

EXCEPT:

(A) No organism resists cancer better than sharks do, but some resist cancer as well as
sharks.

(B) The organism most susceptible to cancer has a higher percentage of cartilage than some
organisms that are less susceptible to cancer.

(C) The substance in shark cartilage that inhibits tumor growth is found in most organisms.
(D) In the past 20 years many terminal cancer patients have improved dramatically
following many sorts of therapy

(E) Some organisms have immune systems more efficient than a shark’s immune system.

Astronomer: | have asserted that our solar system does not contain enough meteoroids and
other cosmic debris to have caused the extensive cratering on the far side of the moon. My
opponents have repeatedly failed to demonstrate the falsity of this thesis. Their evidence is
simply inconclusive; thus they should admit that my thesis is correct. The reasoning in the
astronomer’s argument is flawed because this argument

A. criticizes the astronomer’s opponents rather than their arguments

B. infers the truth of the astronomer’s thesis from the mere claim that it has not been proven
false

C. ignores the possibility that alternative explanations may exist for the cratering



D. presumes that the astronomer’s thesis should not be subject to rational discussion and
criticism

E. fails to precisely define the key word “meteoroids”

I'pammamuxa (Sentence correction)

Follow the requirements of standard written English to choose your answer, paying attention to
grammar, word choice, and sentence construction. Select the answer that produces the most
effective sentence; your answer should make the sentence clear, exact, and free of grammatical
errors. It should also minimize awkwardness, ambiguity, and redundancy.

e As its sales of computer products have surpassed those of measuring instruments, the
company has become increasingly willing to compete for the mass market sales they would
in the past have conceded to rivals.

(A) they would in the past have conceded to rivals

(B) they would have conceded previously to their rivals

(C) that in the past would have been conceded previously to rivals
(D) it previously would have conceded to rivals in the past

(E) it would in the past have conceded to rivals

Ananumuyueckuti ananuz scce (Analytical Writing Assessment)

Read the statement and the instructions that follow it and then make any notes that will help you
plan your response.

“The problem of poorly trained teachers that has plagued the state public school system is bound
to be solved soon. The state has initiated comprehensive guidelines that oblige state teachers to
complete a number of required credits in education and educational psychology at the graduate
level before being certified.”

Explain how logically persuasive you find this argument. In discussing your viewpoint, analyze
the argument’s line of reasoning and its use of evidence. Also explain what, if anything, would
make the argument more valid and convincing or help you to better evaluate its conclusion.

4. COJIEPXXAHME BCTYIUTEJIBHOI'O UCIIBITAHUA
BerynurensHOe HCIBITAHNE COCTOUT M3 TPEX Pa3/iesioB, 00IIas NpoI0KUTEIbHOCTh K3aMeHa —
npUMepHO 2 yaca 45 MUHYT.

1. Amnanmutuueckoe nmucbMo — 1 Tema, 30 MUHYT.
3amaHne: HaKMCcaTh HEOOJBIIIOE ACCe, B KOTOPOM HY)KHO KPUTHUYECKH MTPOAHATN3UPOBATH
HEKOE€ 3a/IaHHOE yTBepKIeHHe. CBOE MHEHUE IIPU 3TOM BBIPAXKATh HE HYKHO. B aT0M
CEKIMH OIICHUBAETCS Ballle yMEHUE KPUTUUECKU PACCYXKAATh U MPABHILHO
OpraHU30BBIBATH HJICH.

2. BepOanbHas yactb— 36 BOIIpocoB, 65 MUHYT.

3amaHue: Ipo4YUTaTh TEKCTHI U OTBETUTH Ha psAJ BOpPocoB. BepOanbHas 4acTh TECTUPYET



BaIlly CIIOCOOHOCTh YUTATh ¥ IOHUMATh TEKCTHI, BBIACATH U3 HUX apTYMEHTHI, a TAKXKe
BaIlld IO3HAHUS B 00JIACTH I'PAMMATUKU aHTJIIMHCKOTO S3BIKA.

3. Maremaruueckas 4actb — 31 Bonpoc, 62 MUHYTBHI.
3agaHue: MpoaHAIN3UPOBATh IAHHBIE U CIENATh BBIBOJIBI, HCIOIb3YS CBOM HaBBIKU
paccyxaeHus. B 3Toit yactu Takxke Hy)KHO 33a7eiCTBOBATh 0a30BbIC 3HAHUS U3 00JIaCTH

MaTEMAaTUKU.
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